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Part-B

We leave so that we.................reach there
A. may B. were
C. was D. has

My friend, a philosopher and guide......cccecevvrvvernnenne
going to Canada

A. being B. is
C. are D. am
Each of the six boys in the class his task.

A. have completed
B. were completed
C. hascompleted
D. was completed

Vijay is very about his new job
A. Exciting B. Excitably
C. Excitement . D. Excited
The room of the new building is empty.
A. four B. two
C. five D. first

The angles are equal, consequently the sides
are

A. Smaller B. larger

C. Equal D. unequal

Select the most appropriate synonym of the given
word--“Rhetoric”

A. busy B. pure

C. oratory D. wood

Select synonym of “eager”.
A. keen B. adore
C. bad D. blame

Select synonym of “bright”.
A, Clear B. enemy
B. difficult D. brave

Select antonym of “prose”.
A. reason B. verse
C. survive D. cheat

Select antonym of “initial”.
A. final B. confusion
C. agree D. word

Select antonym of “victory”.
A. defeat B. voluntary

C. imaginary D. release

Select the most appropriate option which means

Reena to buy fruit
A. have gone B. has went
C. hasgone D. go
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Select the most appropriate option:

The teacher said, “The sun raises in the East every
day”.

The sun will raise in the East every day
The sun rises in the East Every day
The sun raises at the East every day

D. The sun shall rise in the East every day

0w p

Select one word for many:
“An Official numbering of the population”
A. Democracy B. Aisle
C. Census D. Aristocracy

Fill is the blanks:

“smoking will never be given up the
tobacco industry thrives”.

A. sothat B. as long as

C. though D. as if
The writer declares that _____ children of their -
childhood is a criminal act.

A.robbed B. rob

C. robbing D. to be robbed

Choose correct option.

“My College is farther than "
A. she B. her’s
C. her D. hers

Choose correct option.

“The idea of picnic near canal”
A. isrelaxed B. is being relaxed
C. isrelax D. is to relax

The man my flat was cheater.
A. towhoisell B. to whom i sell
C. towhomisold D. who was sold to

Choose correct meaning of idiom:
“To keep a person at arm’s length”
A. toavoid coming in contact with person
B. to meetsomeone
C. tobeatsome one
D. to marry some one

Choose correct option:
“To breathe one’s last”
A. tobreakin
B. failure to keep promise
C. Writeitdown
D. todie

Choose correct option:
“A white elehpant”
A. Elephant of white and brown colour
B. Something beautiful
C. Useful elephant
D. A useless possession



74. Choose correct spelling:
A. Career B. Carier
C. Carreir D. Cariir

75. Choose the correct spelling:
A. Recieve B. Receive

C. Reciiv D. Receev

76. Chose correct article:

“There is fish in bottle”.
A. the, a B. a,a
C. the, the . D. a, the
77. The children wanted to hear end of
the story;
A.  no article B. an
C.  the D. a

78. The staff co-operated the Principal to
maintain discipline in the college:
A. for B. by
C. on D. with

79. Choose correct option(Direct and indirect speech)
“He said, “Rajni washed the clothes”.
A. He said that Rajni was washing the clothes
B. He said that Rajni has washed the ciothes
C. He said that Rajni washed the clothes
D. He said that Rajni had washed the clothes

80. Choose correct option {Active and Passive Voice)
“The police beat a number of protesters yesterday”.

A. A number of protesters were beaten by the
nolice yesterday.

B. A number of protesters were being beaten
by the police yesterday.

C.- Anumber of protesters has been beaten by
the police yesterday.

D. A number of protesters had been beaten by
the police yesterday.

81 Who s called the nightingale of India.
A. SarojiniNaidu  B. Indira Gandi
C. Nafisa Al D. Annie Basant.

82. Smt. Droupadi Murmu was recently elected as the
............ th President of india.

A. 14® B. 15t
C. 16t D. 13*
83. The Tenure of President of India is
A. 5 years

B As long as has majority in Lok Sabha
C. 6 years
D None of These.

84. The name of India’s first mission to Sun is known as.
A. Chanderyaan-3 B. Gaganyan
C. Aditya L-1 D. PSLV.

85. Largest gland in human body is.

A. Liver B. Pancreas

C. Pitutary D. stomach.
86. The most abandoned element in biosphere is.

A. Nitrogen B. Oxygen

C. Silicon D. Carbon

87. The capital of Poland is
A. Warsaw B. Brussels
C. Kieve D. Cramlin.

88. The unit to measure potential difference is called
A. Ohm B. Tesla
C. Volt D. Ampere

89. Social Media Giant company twitter is now owned by
A. JeofBozes B. Bill Gates
C. Ellon Musk D. Mukesh Ambani.

90.The laptop launched by reliance is called
A. Jiolap B. Jiopad
C. Jiobook D. None of These.

91. Who started the Langar pratha in Sikh Panth.
A. Guru Arjan Dev Ji B. Guru Nanak Dev Ji
C. Guru Angad Dev i D. Guru Amardas Ji.

92. Full Form of CAG is
A. Computer Assisted geography
B. Controller and auditor General
C. Communication and astrological governance
D. None of these.

93. Beas River originated from.
A. Tibbet B. Mansarover lake
C. Kailash Range D. Rohtang Pass.

94. The highest Peak of North East India is
A. Nanga Parbat B. Kanchanjanga
C. Anaimudi D. Palini

95. The maximum strength of Lok Sabha can be
A.552 B. 545
C. 560 D.542



96. Which of the following is also called as the wood alcohol
A. Ethanol B. Methanol
C. Propanol D. Butanol.

97. What do we call the temperature at which the liquid and
vapour states co-exist ?

A. Freezing point
C. Boiling Point

B. Melting Point
D. tripple point

98.Union Budget is always presented in
A.Lok Sabha
B.Rajya Sabha
C .Joint session of the parliament
D. None of these

99. Santosh Trophy is associated with
A. Hockey B.Badminton
C. Football D. Cricket

100.Panchtantra is originally written by
A.Kalidas B.Tulsi das
C.Vishnu Sharma D.Magesthnese

101. Which of the following is the odd one out?
A. Square B. Triangle
C. Circle D. Rectangle

102. if "RAT" is written as "18120," what is "CAT" written as?
A.1820 B8.3120
C. 6220 D. 4120

103. Which number should come next in the sequence: 0, 3,

8,15,24 ?
A. 34 B.35
C.36 D.37
104. Arrange the words in alphabetical order:
I. Butterfly 1. Butcher
Ill. Buttercup V. Butternut
ALV B. 1L 1V, 1,
C AL L LIV DL LIV,

105. Find the missing number in the series:
2,5,10,17, _.

A .24

C.27

B. 26
D.32
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A person faces South. He turns around by 45° clockwise

and then 135° anticlockwise. Which direction is he

facing now?
A. East
C. North

B. West
D. South

In a garden, there are 10 red roses, 30 yellow roses, and

60 white roses. What percentage of the roses are not

red?
A.30%
C. 70%

B. 50%
D. 90%

If Rs 1500 is invested at an annual interest rate of 5%,
approximately how much money will be in the account
after 3 years, assuming the interest is compounded

annually?
A. 1650 B. 1577
C. 1625 D. 1736

If Ais the brother of B, B is the sister of C, and D is the
mother of C, then what is the relationship between A
and D?
A. Father and son
C. Son and mother

B. Father and daughter
D. Brother and sister

If a car travels 288 Kilo meter in 4 hours, what is its
average speed in meter per second?

A.20m/sec B. 40 m/sec

C. 80 m/sec D. 120 m/sec

If Ais at 10 position from left side in a row and at 15t
from right side in that row. Then how many persons are
there?

A. 26 B. 25

C. 24 D. 23
After spending 60% of his income, Ramesh is left with Rs
20000/-. What was his total income?

A. 54000/- B. 50000/-

C. 40000/- D. 120000/-

Y is taller than B but shorter to C. X is not as short as C.
Who is the tallest?

A Y B. X

C. B D. C



114. As KNIFE is related to CUT, similarly SWORD is related
to......
A. CUT B.HIT
C. SLAUGHTER = D. BREAK
115. As LION is related to ROAR similarly ELEPHANT is related
to......
A. GRUNT B. TRUMPET
C. HOWL D. CHIRP
116. Who is the developer of computer?
A. Dennis Ritchie B. James Gosling
C. Charles Babbage C. Bill Gates
117. Which of the following is the example of volatile
memory ?
A. Primary B. Secondary
C. RAM D. ROM
118. Shortcut key of folder creation:
A.F2 B. Ctrl+Shift+N
C. Ctrl D. Ctri+C
119. Computer mouse is used for ?
A. Drawing B. Creating line
C. Selecting D. all of the above
120. The first network was called ?
A. CNNET B. NSFNET
C. ASAP NET D. ARPA NET
121. Which of the following devices is not a networking
device?
A. Hub B. Switch
C. Bridge D. None of these
122. Which one of the following is the most common
internet protocol?
A. TCP/IP B. HTML
C. Net BEUI D. IPX/SPX
123. Which of the following is a network topology_
A. LAN B. WAN
C. MAN D.BUS
124. keys are found at the top of the keyboard.
A. Function B. Number
C. Alphabet D. Special
125. A processor is also known as:
A. CPS B. CPU
C. UPS D.PUS
126. Unsolicited commercial email is known as
A. Virus B. Malware

C. Spam D. Spyware

127. Meaning of E.D.P.?
A. Electronic data power
B. Electronic data personal
C. Electronic data processing
D. Electronic data part

128. 1 TB (Terabyte) is equal to_____

A.10GB B. 1000 GB
C. 10000 GB D.100GB

129. is usually used for making final documents or
reports:

A. Microsoft PowerPoint
B. Microsoft Excel
C. Microsoft Outlook
D. Microsoft Word
130. Choose the correct representation, while adding 2 cells
inExcel
A.Sum({A1; B1) =
B.=Sum(A1:B1)
C.=A1;B1
D. Sum=A1;B1
131.The maét p6werfu| computer is
A. quér Computer
B. Micro Computer
C. Mini Computer
D. Frame Computer
132. Inventor of www is

A. Bill Gates B. Larry Page

C. Steve Rogers D. Tim Berners Lee
133.Which memory is non- volatile?

A. Floppy discs B. Magnetic tape

C.ROM D. All of the above
134. BIOS is used?

A. By compiler

B. By interpreter

C. By operating system

D. By application software
135. MS-Word is.an example of

A. Application Software

B. An operating system

C. Aninput device

D. A processing device
136. Portrait and Landscape are

A. Page notations

B. Page orientations

C. Page layout

D. Page size
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HUBis a ?
A. Calculating device.
B. Computing device

C. Software

D. Network device

In https the letter ‘s’ stands for ?
A. Smart B. Secure

C. Simple D. Standard

MIME stands for ?

A. Multipurpose Internet Mail Extension
B. Multi Internet Mail End

C. Multipurpose Internet Mail Email

D. Minimum Internet Mail Extra

can not be used to work in MS-office?
A. Mouse B. Scanner
C. loystick D. Light Pen
Formatting is performed on ?
A. Text B. Table
C. Both A&B D. Menu
The name of a word document displays in ?
A. Ribbon B. Title bar
C. Status bar D. Home tab

What is the smallest width of a column?
A.0” B.1”

C.1.5” D.0.5”

Slides may contain?

A.Text and Graphics only

B. Slides and movies only

C. Text, movies, images, sound only

D. All the above.

You can activate a cell by?

A. Clicking the cell

B. Pressing the tab key

C. Pressing an arrow key

D. All the above

What is the shortcut key to open the “open” dialog box?
A F12 B. Shift F12

C. Ctrl+F12 D. Alt+F12
Thesaurus tool in MS Word is used for?
A. Synonyms words

B. Spelling suggestions

C. Grammar Checking

D. Autocorrect options

Which page’s header or footer is printed automatically?
A. On the first page

B. On the last page

C. On alternate page

D. Every page

149. How many columns can you insert into a word
document at most?

A. 45 B. 63
C.50 D. 65
150. What is the term used to make changes to a document?
A. Creating B. Editing
C. Modifying D. Updating



